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Section . 5 (Physics)
Two resistors of r
connected in p
ratio of the the

esistance, 100 () and 200 Q are
arallel in 4y electrical circuit, The

. 'mal energy oy loped’in 100 X2 to

that in 200 Q iny given tiifegis 3 OP_C(J_))

M 1.3 ‘ (

@ 4. d ( @

@ 1:2

4 2. 1

Anidea] §as undergoes foyr different processes from
1€ same initja] st

Those Proces . i : ¢
5€s are adiabatic, 1sothermal, isobaric
and isochorjc. e

The curve whi

: ) ch represents the
adiabatic Process among1,2,3 and 4 js .
K ;
P
f 4
3
2‘
1
vV
@ 3
2 4
@ 1

W2

The ratio of the distances travelled by a freely falling
body in the 15t 2nd, 3rd 514 4th second :

1:8:5:7
2)
©)
(4)

Given below are two statements :
Statement I :

: b |
: 4
116

_
BN
© W M
[y

Biot-Savart's law gives us the expression for the
Mmagnetic field strength of an infinitesimal current

element (Id) of a current carrying conductor only.
Statement I1 ;

Biot-Savart's law is analogous to Coulomb’s inverse
Square law of charge q, with the former being related
to the field produced by a scalar source, Id] while
the latter being produced by a vector source, q.

In light of above statements choose the most
appropriate answer from th

€ options given
below : |
(1)  Statement I is correct and Statement IJ jg
incorrect
(2)  StatementIis incorrect and Statement IJ js

correct
(3)  Both Statement | and Statem

(4)  Both Statement | and St
incorrect

entIl are correct
atement I are

10.

11.

g P
A f
itational org
i esagramta : :
gexpe;egcparticular point. Th,
tional field intensity at the,

f mass 60
([:\fl;’;o;)l yI\?, when placefl
magnitude of the gravita
point is : 5 VgK é
(1) 20N/kg TN S
(2) 180N/ kg
() 0.05N/kg .
(4)  50N/kg | o
The peak voltage of the ac source 's e:::ource
(1) 2 times the rms value of thethe ac source
() 1/42 times the rms Valu? 0; to the circuit
() thevalue of voltage supplie
(4)  thermsvalue of the ac source

: 0 kw
The energy that will be ideally radiated by a 100 kiy
transmitter in 1 hour is :

(1)  36x105]

@ 1x105]
@) 36x107]
@ 36x10tg

A copper wire of length 10 m and radius
(10-2/ Jx ) mhas electrical resistance of 10 (0. The

current density in the wire for an electric field
strength of 10 (V/m)is:

1) 10-5A/m2
@ 105A/m2
@) 10 A/m2
4 10°A/m?2

input frequency is
60 Hz, then the output frequency woulg be:
(1)  60Hz
@ 120Hz
@)  zero
4 30Hz

If a soap bubble expands,
bubble :

(1) remains the same

(2)  isequalto the atmospheric Pressure
() decreases

4) inc;eases

the Pressure inside the

The ratio of the radius of gyration of 3
disc about an axis passing through i
Normal to its plane to the radiysg of
disc about its diameter is -

thin Uniform
ts Centre and
8Yyration of the

M a1
AL Ihp
@) a2 -

«4) k2 11



14.

" 15,
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If the initial tension on a stretched strin
then the ratio of the initial and final
transverse wave along the string is ;

gis doubled,
Speeds of a

1 1:42
2 1:2
() 1:1

@ J2:1

Two objects of mass 10 kg :;nd 20 k
connected to the two ends of a rigiq

10 m with negligible mass. The disfﬂncgﬁ t(})}f length
of mass of the system from the 19 T— i;.ce“fﬂl‘

& respectively are

(1) 10 m
(20 Sm
10
3) _?T m
20
(4) — m

The graph which shows the variation of the de
Broglie wavelength (\) of a particle and its associated
momentum (p) is :

t

A

@)

)

>—>

P>

A long solenoid of radius 1 mm has 100 turns per
mm. If 1 A current flows in the solenoid, the
plagneﬁc field strength at the centre of the solenoid
is:

1) 1256x10-4T
2) 628x1074T
@) 628x1072T
@ 1256x1072T

3

‘S3

A light ray falls on a glass surface of refractive index

J3, atan angle 60°. The angle between the refracted
and reflected rays would be:

1 90°

@ 120° )

@) 30° Fi ‘{7

@)  60°

A shell of mass m is at rest initially. Itexplodes into
three fragments having mass in theratio2:2: 1. If
the fragments having equal mass fly off along
mutually perpendicular directions with speed v, the

%speed of the third (lighter) fragment s :
M 2v2v
@ 320
@ v
@ 2v
In a Young’s double slit experiment, a student
observes 8 fringes in a certain segment of screen
when a monochromatic light of 600 nm wavelength
is used. If the wavelength of light is changed to
400 nm, then the number of fringes he would observe
in the same region of the screeniis :

M 9

L2y 12 s
o B
e

@ o

@ 8

An electric lift with a maximum load of 2000 kg
(lift + passengers) is moving up with a constant
speed of 1.5 ms—!. The frictional force opposing
the motion is 3000 N. The minimum power delivered
by the motor to the lift in watts is : (g =10 ms ~2)

(1) 34500
(2) 23500
() 23000
@) 20000

Plane angle and solid angle have :
(1)  No units and no dimensions
(2)  Both units and dimensions
(3)  Units but no dimensions
(@)  Dimensions but no units

In the given nuclear reaction, the element Xis :

16.

17.

18.

19.

-_
)

20.

21.
ﬁNa-a X-if-éj} v
14)

22
1oNe
22
12Mg
23
11Na

25
10Ne




S3 4

= Z}/?(fll;i:gzt propagates through a material medium | o7 ﬂm
K the veIoP::‘ietl;lz:fmlj;:,l}f‘Zr :)"ﬂ“(.l relative pcrmeaPilify ' 31. Thi
light in vacuum) B DS pven by 1 (e velocity @ (a) :_l;
P
M o= | A

' (b)

 pe (NP ] C_
\/E_I © (

(3) v=cC . . . b and (c)"tl-}g‘?Otenﬁal
r n e give ol O fpnctiong H2 * e
[ . i =

in:
€ (1) Circuit (c) only
(2)  Bothcircuits (a) and (€)

23. AS‘ the temperature increases, the electrical @) Ci’rcui.t () cay
resistance: : @)  Circuit(b) only
1) increases for conductors but decreases for | 28. A biconvex lens has radii of c}_;'r_:r_al,lfl,lre, 20 cm ead}.
semiconductors If the refractive index of t erial of the lens is
(2)  decreases for conductors but increases for 1.5, the power of the lens is : 5%
semiconductors (1) +5D (_7/’\/0’ @
(3) increases for both conductors and (2)  infinity | -‘.6/ ;$
semiconductors (3) +2D F:' W\O‘
4) decreases for both conductors and .,/(4) +20D ‘2 &l ' @
semiconductors ; : :
- 29.  When two monochromatic lights of frequency, vV and
: ; v 5
24. The dimensions [MLT~2A ~2] belong to the: 7 are incident on a photoelectric metal, their

1 ti ili b i
(1)  magnetic permeability _ stopping potential becomes ?S and V respectively.

(2)  electric permittivity The threshold frequency for this metal is :

(3) magnetic flux w 2
s
@ 3 a

- (4) selfinductance

25.  The angle between the electric lines of force an . N
L s  — U3 2v
quipotential surfaceis : 4
- 20 @ 3v <
a 90 o
° : _130. A spherical ball is dropped in a long column of a
@) 180 s . SPRCTH sl .
] r Z ) highly viscous liquid. The curve in the graph
@ 0 f],\! gl ,,.g; shown, which'féﬁr_e'sene ball (v) as
@) 45° Al a func_t_i_(f_\fj,ﬁme (t)is: A
'\I b v '
i 26. LetT, and T, be theenergy ofan electron in the first = 2
'. and second excited states of hydrogen atom, B
respectively. According to the Bohr's model of an >
\ atom, the ratioT7 : Tpis: \ A
) - Y™ .5 t
1) 4:9 e vt w 5
(Qj/ 9:4 - (12) _([:)
@ 1:4 ; : ?
@ A



31.

32.

33.

The angular speed of 5 f 5
. a Ily wheel ;
umformBiI;g(]uIar acceleration chanpls;;o: )
SpRg 10 & e rl,)n‘l N 16 seconds. "l‘l P
acceleration In rad/s2 g . e angular
(1) 12
4t
@ 1 aP :
A . TP
@ 27 W\/Aép?ﬁa\\‘_t
4w X N
% &6 b
; 7
A square loop of side 1 m and resjg ’
Jaced in a magnetic field of 0.5 T I S:me ll Qis
+ A the plape of

toopis B erpeﬂdi‘_:“hr to the directj mag'
field, the magnetic flux througl, tit@m-&pf'magneﬁ%

loop is :
" ;\ SVQ/}"

M 1 weber 5
() zero weber L/R/ V\()/_g @
@) 2 weber ‘747) N
M 0.5 weber . Q;i (7%\
o

The displacement—time graphs

: of t :
particles make angles of 30° nﬂl‘l‘;"%wn;t;wtﬁg
x-axis as showr} m the figure. The- % of their
respective velocity is : \ 13 \

) %
5 Ny
s <
g c}g G
o
%‘0 507 45° 2 Lo ;
time — g
' '_ < .\’kv
i B3
bl - A
5 2 & % '
B Bl e Iﬁ)g%
(4) i e | \ ®
A1
Match List - I with List - II:

List-1 List - 1I
(Electmmagnétic waves) (Wavelength)
(@)  AMradio waves @ 107°%m
(b) Microwaves @) 10°m
(© Infrared radiations (i) 1072m
(d) X-rays (v) 107%m

tions given

Choose the correct answer from the op
below ;

M) (-G ()~ (@), © - @ DO
@  (a)- (i), (b)- (i), © - V) @-0)
@) (a)-(@v), (b)- (i) (0)- (i), (d) -

@ (a)- (i), (b) - (i) ©)- O (d)- (iv)

=

35.

36.

37.  The volume occupied by the molecules contained in
45 water at SIP, if the intermolecular forces

38.

S3

Two hollow conducting spheres of radii Ry and Ry
(R;>>R,) have equal charges. The potential would

be:

(1)  equalonboth the spheres

(2)  dependent on the material property of the
sphere

(3)  moreonbigger sphere

(4)  moreonsmaller sphere

Section - B (Physics)

A capacitor of capacitance C= 900 pF is charged
fully by 100 V battery B as shown in figure (a). Then
itis disconnected from the battery and connected to
another uncharged capacitor of capacitance
C =900 pF as shown in figure (b). The electrostatic
energy stored by the system (b)is:

+| |+

. +| [+

+1 1+

. &

(a) (b)

+ —

il

+ —

C
1) 225x107°]
@ 15x107°]
@) 45x107¢]
@ 3.25x107°]

vamish away is : A,

1) 56x1073m’ . N 0
@ 56md L% I et
(@) 56x106m3 & w/ﬁ;, L
@  56x10%m3 L ¥
Match List - I with List-II:
List-1 List- 11 QLE‘
 (a) Gravitational @ LT3 WAL
constant (G) / .
() Gravitaional (i) [M7'LAT7 W
potential energy .
() Gravitational _—(iii) [LT™ 2]
potential -~
(d)  Gravitational (v) [ML2T—?
intensity

Choose the correct answer from the options given
below :

1) (@)- (i), (=(i), ()~ (i), (d) - ()
@  (@=tiv), (b)- () () - (@), (d) - (i)
©)

(a;jii): (b) - (), (c) - (iv), (d) - (iii)
(a]- (@), (b) - (v), (c) - @) () - (i)
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41.

53
39.

A wheatstone bridge is used to determine the v
KNOWN Tesis ce X by adjusti ;

of 1.mk istance “( by adjusting the variable

resistance Y as shown in the figure. For the most

precise measurement of X, the resistances P and O -
—_ es L andQ:

alue

(1) should be very large and unequal

(2)  donot play any significant role

() should be approximately equal to 2X
AL

should be approximately equal and are small

The area of a rectangular field (in m2) of length
5.3 m and breadth 25 m after rounding off the value
for correct significant digits is :

(1) 13825 x> e &
(2 14x102 \ 5_’}
(B) 138x10! & V{ i

V?‘f 1382 qﬁt’"i&

Given below are two stateménts: One is labelled as
Assertion (A) and the other is labelled as Reason

(R). '
Assertion (A):

The étretching of a spring is determined by the shear
modulus of the material of the spring.

Reason (R): -

A coil spring of copper has more tensile strength
than a steel spring of same dimensions.

In the light of the above statements, choose the most
appropriate answer from the options given below :

(1)  (A)is true but (R) is false

(2) . (A)isfalse but (R) is true
. (3)  Both(A)and (R)are true and (R) is the correct
explanation of (A) - :
(4)  Both (A) and (R) are true and (R) is not the

correct explanation of (A)

6

42,

43.

45,

)

. oht wire
§ . Jong stralg re‘nt:
From Ampere’s circuital law for2 steady cur
of circular cross-section carrying @ the inside 2"
the variation of magnetic field 17
outside region of the wireis: . of distanc®
(1)  a linearly increasing fuﬂcno::;ire and then
upto the boundary of the endence for the
decreasing one with 1/r dep®
2 i to
outside region. ) distance uP
(2)  alinearly decreasing fur'lctlof‘dc’fh.cﬁ_l 4 1'mear1y
the boundary of the wire a'r:i region.-
increasing one for the outst . t for poth the
(3)  uniform and remains constan
regions. y upto
: p jstance
(4)  alinearly increasing function ofd arly

line
the boundary of the wire anc_i i

decreasing for the outside reglon-

m start
Two pendulums of lerlgth 121 cm and 100c

ea
vibrating in phase. At some instant, . tw; al:l"he '
their mean position in the same€ poes horter
minimum number of vibrations of. ﬂ.-le :
pendulum after which the two are again it
the mean position is :

1 10
@ 8
@ 1u
@ 9

Two point charges —q and +q are placed 22 8
distance of L, as shown in the figure.

_'q- +q
o 1 —'}-

i < ==
ke mag‘ﬁ@mig ata distance

R (R>>L) varies as :
—_— 1.--

1 4 g3 3
Rl4 I'_E _’M
@ 78
1
R?
1
@ 3

A series LCR circuit with inductance 10 H,
capacitance 10 pF, resistance 50 () is connected to
an ac source of voltage, V = 2,003'%(100 t) volt. If the
resonant frequency of the LCR cjtcuitis v_ and the
frequency of theac 'soﬁ)cz\i_s\vTﬂ-T@i Sl

50
i v,=—Hz,y=50Hz Cf},?”%
= WH w00 U@ "N
= 100 Hz ; = —
(4] v v, o Hz ?)\
@) v,=v=50Hz :
Y ﬁ-fuvi*)l
) ¥e = ow Z 2 l!“’\

5 | 8% pEsiee
@aﬁéﬁ



46.

47.

2.

7
A nucleus of mass number 189 splits into two nuclej
having mass number 13';5 and 64. The ratio of radius
of two daughter nuclei res]e]ectively is:

50.

5:4 <
@) | 25:16 m.
(3) 141
) . 415

A ball is projected with a velg
angle of 60° with the vertical
the highest point of its trajec

'city, 10 ms=1, at an
direction, Tts speed at
tory will be :

z
5ms~1 ~v

\on|S /@2&‘?

@
3)

10 ms™—1
Zero

51.

A
)

N
P s

G :.'t"r)
A 4

-

M

) o=mox

ol> RrroolP

@

©)

o

RRroolr Rrooll Rrro
Mo H0 ool Se s

Two transparent media A and B are separated by a
plane boundary. The speed of light in those media
are 1.5x 108 m/s and 2.0 X 108 m/s, respectively.
The critical angle for a ray of light for these two media
is :
(1)
)
(3)
(4)

tan—1(0.500) et
tan~1 (0.750) M

s
[ o ’ ¥
sin~1(0.500) BN = P Y "7@{6;
sin—1(0.750) ©y -D},ﬂ
A
| Ao

"2 rad s-1,

X
n
¥

53.

S3

and average radius
g about its horizontal diameter at
If the vertical component of earth’s
magnetic field at that place is 2x10~5 T and
electrical resistance of the coil is 12.56 (1, then the
maximum induced current in the coil will be :

A big circular coil of 1000 turns
10 m is rotatin

1) 1A
@ 2A
@) 025A
@ 15A

v
Section- A (Chemistry) W
=

Given below are half cell ree’lﬁt’ions :

K*MnOj +8H'+5e - Mn2*+4H,0,

o Jt\g’

— 7 9 Y-
Epn?*/pno; = 1510V e

. 0,
-\ %
.
Eoolezo =+1223V ° ;/ :d‘}

Will the permanganate i@b«zﬂe 9?50“‘
water in the presence of an Refi? '
\,(,?)/ ‘ Yes, because E‘;ell = +-2.733 v
@)
S)
@

[l
19 = A -1

No, because Eeen = —2733V
Yes, because ELey = +0.287V
No, because By = —0287V

:@ Identify the incorrect statement from the following
A Pe—

V@‘f Ionisation enthalpy of@% decreases

from top to bottom in he a
2)

Lithium is the strongest reducing agentamong
the alkali metals. "

®)

Alkali metals react with water to form their
hydroxides. - '

The oxidation number of K in KO, is +4.
=R |
Identify the incorrect statement from the following,

(1) Inanatom,allthe fivel3d orbitals are equal in
energy in free state. :

The shapes of dxy, dyz, and d,, Otbita\sdg
similar to each other ; a\t\\%')__y?. and ¢
are similar to each other?

All the five 5d orbitals are different in.
when compared to the respective &d orb

w4 Allthe five 4d orbitals have shapes sim
the respective 3d orbitals.

(4)

)

©)
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55.

56.

8

o has a low value of third ionisation
Gadolinium

of
enthalpy because o
(1)  high electronegativity
(2 high basic character
3 small size
4) high exchange enthalpy

The IUPAC name of an element with atomic number
219s |

(1) unununnium

) mlup_octium /“'
U3 ununennium *

(4)  unnilennium ){)

Match List - T with List - I

List-1 List-11
(Hydrides) (Nature)
(@ MgH, ()  Electron precise
(b) GeH, Electron deficient

(© @@D '/{(?.1) Electron rich
d HF - (v) Ionic

Choose the correct answer from the options given
below :

M @-0@) b)), () - (v), (d) - (i)
@  (@)-(), (b)- (iii), (c) - (iv), (d) - (i)
@  (@-@{v) ®)-() () - (1), (d) - (iid)
W @)= (), (b)- (), (9) - (i), (d) - (iv)

RMgX + CO, — 4,y _H0
W —) e

(1)  RCOO-X+*

,} 5
@  (RCOO),Mg e %,

W) RCOO-Mg*X
4 RyCO~Mg*X %C/) >

Match List - I with List - IL

List-1I List-1I_
(Drug class) (Drug molecule)
Antacids- 2 () Salvarsan
(b)  Antihistamine Morphine
(9  Analgesics - i) Cimetidine
(d)  Antimicrobials (iv)  Seldane

Choose the correct answer

below:

@ @-(), b)-(iv), (c) - (i), (d) - (i)

@) (a)-(v), (b)=Gm), () - (i), (d) - (i)

@), (@)-(iii), (b) - (ii), (c) - (iv), (d) - (i)
(a) - (iii), (b)-(iv), (C)_-,('ii), (d)- ()

from the options given

M

By

Which of the followi

' Ng statement is not correct about
diborane ? :

(1) The four terminal Hydrogen atoms and the
two Boron atoms lie jin orie plane..

)

'__L-—YA)

There are two 3-centre-2-electron bonds.

— .

Thi four terminal B-H bonds a fe two Ceptre
two'electrdn bonds. '
/)-—//dh

7
@ T[/}:ein L

correct statement regarding enzymes is :

(1)  ‘Enzymes are polysaccharides.

(2) Enzymes are vglggeciﬁc for a particular
reaction and substrate. \_~"

()  Enzymes are biocatalysts.

M)  Like chemical @Qs enzymes reduce the

activationenergy of bio processes.

Given below are two statements : one is labelled as
Assertion (A) and the other is labelled as Reason

R).

Assertion (A):

In a particular point defect, an ionic solid i:
electrically neutral, even if few of its cations ar:
missing from its unit cells. '
Reason (R):

In an ionic solid, Frenkel defect arises due t

dislocation of cation from its lattice site to interstiti
site, maintaining overall electrical neutrality.

In the light of the above statements, choose the mo:
appropriate answer from the options given below

(1)  (A)iscorrect but (R) is not correct
(2)  (A)isnotcorrect but (R) is correct

(3)  Both (A) and (R) are correct and (R) is tk
correct explanation of (A)

(4)  Both (A) and (R) are correct but (R) is not i
correct explanation of (A)
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9

Which of the following p-v curve represents | 64.

maximum work done ?

—

& F

Isothermal

\'

Isothermal

¢

\'

Isothermal 3
o

@
v

63. Given below are two statements :

Statement I:

Primary aliphatic amines react with HNO>
unstable diazonium 5422 salts.

Statement 11:

Primary aromatic amines T
diazonium salts which ares

In the light of the above stateme
appropriate answer fro

(1) Statement I i correct
incorrect.

(2 Statement

correct.
s

@ Both gtatement I and Sta
incorrect.

Both Gtatement Jand Sta

to give

eact with HNO; to form
table even above 300K.

nts, choose the most
m the options given below.:

put Statement II is

Iis incorrect but Statement Il is

tement Il are correct.

tement II are

L

65.

66.

s

VO

1%
In the coagulatioW
! power of the three given ionsis in the order -

%) o’
rd

v
i s3
The IUPAC name of the complex - '
[AgEO)I[AgCN), s

(1)  dicyanidosilver(]) diaquaargentate(l) %/~
(2 cIlaquasﬂver( ) dlcyamdoargentate(l)

(3) dicyanidosilver(II) diaq uaargentate(I) )‘J
dlaquasﬂver( )dlcyamdoargentate(II)

P

ot
Which compound amongst the following is not an
e

aromatic compound ?

o)

®)

4) v

9@@@

Given below are two statements:

Statement I
the flocculating

AR+ > Ba2t > Nat

Statement II':
In the coagulation of 2 < sitive sal, the flocculating -
power of the three given  salts is 1wrder -

NaCl > Na,SO, > NazPO, 0 A

L =3
7%
In the light of the above statements, choose the most
appropnate answer from the options given below :

)  Statement I is correct but Statement II is |
incorrect. . :

2 Statement I is incorrect but Statement Il is
correct.

(3) Both Statement I and Statement Il are correct

(4) Both Statement I and Statement II are

incorrect.




Y
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67.

. ¢ with List - I
hLisk<Lp List-1I

absorbent for carbon dioxide

Matc
“List-1

@ - electrochemical cells
© E(a) (iii) coolantin fast breeder reactors
g?) Cs (iv) photoelectric cell .
~ Choose the correct answer from the options given
below: »
(1) (a)- (@), (b)- (i), (c) - (iv), (d) - (ii)
& (@)- (i), (b)- (iii), (L=), (d) - (iv)
@) (@)-(v), (b)- () (c)- (i), (d)- (i)
@ (@)-(ii), (b)- (i), (c) - (i), (d) - (i)

22

69.
(’ N
v \14'}\

Given below are two statements : one is labelled as
Assertion (A) and the other is labelled as Reason
(R). = X

Assertion (A): ICI \is,;zre re?ctive than,.

Reason (R): I-Cl bond is weaker than I-I bond.

In the light of the above statements, choose the most
appropriate answer from the options given below :
(1) (A)iscorrectbut (R) is not correct.

(2)  (A)isnotcorrect but (R) is correct.

Both (A) and (R) are correct and (R) is the
correct explanation of (A).

Both (A) and (R) are correct but (R) is not the
correct explanation of (A).

@

Amongst the following whi e>will have

maximum ‘lone pair - lone Eair’ ele&t:)(m

repulsions ? ;
25\ (1) SF e ¥Tra REL D
1 4 . X h
1) ) Xng LTI L. %k@{y
vy O LIRS NS
YTNWE N IR IxL. ’Jr’ﬂk%V ®)
\ - 7 YT It
1 -~ Given below are two stafements : 3 &
q/g\% Statement I
< ¥ - Theacidic strength of monosubstituted nitrophenol
'1,@ Is higher than phenol because of electron

0“\ éwithdrawing nitro group., ~~

y
)

Statemeéntt——

@;ﬁ o-nitrophenol, m-nitrophenol and p-nitrophenol will
: have same acidic strength as they hav@ro

group attached to thi?' phenolic rin g 70 N
In the light of the above statements, choose the most

I\:{?opriate answer from the options given below :

Statement | is correct but Statement Il is
incorrect,

(2)  Statement 1 is incorrect but Statement If is
correct,

(3) Both Statement ] and Statement Il are correct.

(4) Both Statement I and Statement II are

incorrect,

10

71.

I

172,

73.

B,

AN

~0)

A

Which one is not correct mathematical equation for
Dalton’s Law of partial pressure ? Here p = tota]

_ pressure of gaseous mixture

Pi=Xip, where p.=partial pressure of

ih gag

ﬁ»d 'S X;=mole fraction of ith
b gasin gaseous
mixture _
) Pi=X; P:-} , where X;=mole fraction of ith
N gas in gaseous mixture
p? = pressure of ith gas
in pure state
®)  P=p;+p,+p;
RT RT RT

4 =ENi— +ny— +ny;—
4 p=n v 25, 3%
Given below are two statements :
StatementI:

- The boiling points of the following hydrides of group
16 elements increases in the order - L’
H,0 <H,S,< H,Se < H,Te.
Statement II:

The boiling points of these hydrides increase with
increase in molar mass.

In the light of the above statements, choose the most
appropriate answer from the options given below :

(1)  Statement I is correct but Statement II is
incorrect

(2)  Statement I is incorrect but Statement II is
correct

Both Statement I and Statement II are correct

(4) Both Statement I and Statement II are
incorrect
e e
In one molal solution that contawole ofis
solute, there is
(1) 100 mL of solvent ;
(2) 1000 g of solvent & < :}\VS I
(3) 500 mL of solvent _ ﬂu W

500 g of sole

Choose the correct statement: 5
W Diamond is sp> hybridised and graphite 1s

sp® hybridized— ~

(2)  Both diamond and graphite are usedas dry
lubricants. '

3)  Diamond and graphite have two dimensional
network. R

(4)  Diamond is covalent and graphite is ionic.

—~—~—— —

B
Q

76.

2l



EE—

76.

77. The pH of the s

—

78.

[Given pKa of CH3COOH =4.57] 4 2
w457 i S
@ 257 b §
@ 557 i
“4) 3.57
Which amongst the foIIowingjsjnemlrect statement?
1) H; jon has on€ electron.
oY ionis diamagnetic-
; + 0,,0; .and 0%
The pond orders of Oz, _2,1 5 2
L/ZJ 2.5, 2 1.5and 1, respective y. P
i 1 cule our elec_trons in its two
4 gegg:gefatew Jecular orbitals.
is

°¢5§@;ﬂd .

neutralise 50 '
mL of 0.5 M HC¥olution according to

|

gae Cfollowing reaction?
aCO.

ey + 2F0

{S) Cl(aq) - CRCIZ[('!(]) + COZ(]-_',) + 21‘120[1)

[Calculate
upto second place of decima}sgoint]

(1) 3-65g i 7"-
@ 950 as AT
3 & X fem\ *
B 125g e Lo il 3
@ 132 " ;f/c,i/(\\;’/’
— A - ]
o o

Which of the followine i ] Ve
E Iorobenzene? owing is suitable to_é’yxllthesgm.
< $

,HCl ‘k/

) olg .
. 3

NH,
2 , HCIl, Heating :
i
B Cl,, anhydrous FeCl R
nzene, v 74
enzen ,, anhydrous ret-i3 {/{?

®)
(' Phenol, NaNOy HCL, CuCl /5

dluﬁon containing 50 mL each of
nd 0.01 M acetic acid is

0.10 M sodium acetate a

g are capable of

r
c P‘D.Iyme d hardening on

ct !
' ti
Thermoplas ing an
1) I atedly SOEE T ectively \
heaﬁll‘g and coolind usable v .
h mosetting polymer® are re]/l_d S O
Ther ins he
2 p
tomers ha forces. v
%) Elas .~ termoleC
py weak’ _ﬁg};t/ensﬂe strength- N
5 — \é

o pure C\aCOﬂvﬂ[ be required to | 80

82.

N

)

S3

Match Ligt -Iwith List - IL.
List-1I
(Products formed)

List-II
(Reaction of carbonyl
compound with)

(a) Cyanohydrin (i) NH,OH
RNH,

(b)  Acetal (ii)
© Schiff's base~ i) alcohol _
HCN P7

(d Oxime . (iv)
he options given

Choose the correct answer froin t
below :
(1) ((ﬂ) - (i), (b) - (i), () - (i), (d) - (iv)

a) - (iv), (b) - (iii), (=(i), (d) -1}

) (a)-(iii), (B)- (1v), (C)r'_(ii)f (d)- (i) 2
@ @) O)- (i -0 @0 T
Given below are two statements : & ) 0
Statement I: *L*’ﬁ oo
éf'/h

The boiling points of aldehydes and ketones are
higher than hydrocarbons of com arable molecular
masses because of weak molecular association in
aldehydes and ketones due to dipole - dipole,”
——r — - “o
U
o

interactions.
Statement I1:
' The boiling points of aldehydes and ketones are
Jlower than the alcohols of similar molecular masses
nding. )

due to the aI:—)sence of H-bo
In the light of the above statements, choose the most

appropriate answer from the options given below :
I is correct but Statement II is

(1)  Statement

: incorrect.

(2)  Statement I is incorrect but @is
©)

)
incorrect.
The given graphisa representation of kinetics of a

vd

L)

—/Ol/

TTec
Both Statement [ and Statement Il are correct.

Both Statement I and Statement II are

reaction.
Constant temperature T

)
L% o
\%([_5

x
The y and x axes for zero and first order reactions,

1/rt;spech'vely are -
( zero order (y=rate and x=concentration),

)
first order (y=t, and x= _c_qncen_raﬁon)
zero order (y=rate and x= concentration),

first order (y=rateand x= t,)>7 -
zero order (1/=concentrati0n and x= ﬁme),

3)
~ firstorder (y=1t, and x=concentration) +~
(4)  zero order (y= concentration and x = time)

first order (y=rate constant and

\5/, @ =concentration)

@W
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5 83. The incorrect statementregarding chiralil:y is: Section - B (Chezhistry]
(1)  Enantiomers are superimposable mirror 86. Match L.iSt -Twith List-TL. :
images on each other. =27~ List-1I List-1I
— (Ores) (Composition]
/{f) ~ A racemic mixture shows zero optical () Haematite () FeOy4
rotation. ) (b)  Magnetite < _ (i) ZnCO;
() Calamine (iii) FeO3
@) Sni r_eaction yields 1 : 1 mixture of both (d) Kaolinite 5 —iv) [Al,(OH) Siy
enantiomers. v~ Choosma answer from the options gi
below :
@  The product o-btainfed .by Sn2 reaction .of 1 @ - (i), (b) - (i), (0) - (iv), (d) - (ii)
e e I8 @i
Ll ST & _ (a)-(), ()= - (D-C) 7
| (o) (i) ©)- 0, (O 2 (D~ ()™
g4. TheKjeldahl's method for the estimation of nitrogen 87. = Which one of th'e following is not formed w
can be used to estimate the amount of nitrogen in acetone reacts with 2-pentanone ﬁ; the presenc
which one of the Wounds ? dilute NaOH followed by heating ¢
cHy 0
: \f\ ’ /g £ CH iy
. ; 2
2 / 3 c?} i; s CH. CH
T 3 3
©N=N A A S
2 O CH
@ /4 7 . P 3
e ®) %
C v H;C CH;
NO, CH,
/ N
¢, CH; CH,
. )
O
CH,
7z : g88. Givenbelow aretwo statements :
@) | T Statement I
\N In Lucas test, .Er_ima 'y, secondary and terti
alcohols are distinguished on the basis of tt
;{eactivittx with conc. HCl+ZnCl,, known as Lu
85. At298 I§,+ the standzaid electrode potentials of Cu2t/ szaatiilén;ll A
Cu, Zn?* /Zn, Ee /Fe and Ag*t/Ag are 0.34 'V, Primar 1lcoh.ols - mostéﬁ ]
-ogg‘ V, —0.44Y and 0.80V, respectively. ary @ bi Jifato st feactiveand immediat
A= 0 e N y ‘prodicetarbidiiypropmismperatise on seact
On the basis of standard electrode potential, predict with Lucas Reagent.
. Lj’ W1 n:l:a of tl;lf following reaction - Inthe lig.ht of the above statements, choose the m
VT\ e Wro(-l 'R )éo o X T o. ap_proprlate answer from the options given belo
—M d;/w% U e :(:,q)+2n(_s‘)j-> ZnSOy(aq) +11:e(£1 - '/,('L) ?tatement I is correct but Statement II
A - ZCUSO‘;(aq) +2A (S) —3 2(:0 * AJ mcorreCt‘ o
&\\(\, . g g u(s)+Ag,S04(aq) 1 . () .Statement I is incorrect but St
15~ o :D.%a ©) Cl)ﬁ"z04(aqj + gn(ﬁ) - Z-r:(src‘;_ < v s sencndl
“+ 0 “~ 4(aq) +Cu(s) (©)] Both Statement I and St
(@) CuSO4(aq) +Fe(s)— FGSO4(aq)+cu((] - b (4) Both Statement I an:{te;n ent ITare corre
' ) incorrect. tatement II



—
A 3 g
‘QCQ:; '15]5%_..7.;23 \\(‘1/ ' -’6@
et = 5 2{ S - l ol at y
A C Q/O‘\f/ - 0 6 R =7
e p( (o} + L’ 2 ' o 8 > 4 o- < ‘?a. }/ .
If radius of 4, ] 13 Z ( o) 0" 0 — % 3
7 of second Bohr griit of tie He *ion is 10 g M 2
V \ pm, what is the radius 2{, i1 Bokr orbi 15 ,gf 95. Copper crystallises in fec unit cell with cell edge
jon? (5 orbit of 1:-1 length of 3.608 X 10-8 cm. The density of copper is
(1) 1.587 pm 2 aﬂ"}) AP i @ 892g cm—2. Calculate the atomic mass of copper.
(2) 1587 A N /‘T\-e,fi s X ?;/Z,BAL Y (1) 60u 5
gﬁ{ 1587pm Q‘Et v &Ly SN, 2) 65u s Z%ﬂ
B T587pm 8 oA £ b @ 631u G T
\Vr/” \4907, 4) 3155u -

90. A 10.0 L flask contains 64 g of oxygen at 27°C. : : )
(Assume O, gas is behaving ideally). Thelpressure The pollution due to oxides © sulphur) gets
inside the flask in bar is enhanced due to the presence‘of :

(Given R=0.0831 LbarK~1mol ™1, g% i (a) . particulate matter
(1) 498 - w $°$D.Jf (b) ozone o
\/(QY 4.9 4 XA,‘T #’ g : ) hydrocarbons _
@ 25 R (@  hydrogenperoxide
gy 4380 e /‘0 /. Choose the most appropriate answer from the
91. Find the emf of the cell in which the following options given below
reaction takes place at 298 K @ (®)0©) (d)only
Ni(s) +2 Ag* (0.001M) = Ni2+ (0.001 M) +2Ag(s) @ @ @ donly
(Given that Ecy =105V, 3?.’9353 - 0059 at @ @ donly
ki e ) (@) @) (only
0.9615 V Jpgler: a"‘s%ﬁf ' a 97. The product formed from the following reaction
2 1.05V | %0 T2 %f‘“ 25 sequence is
(3) 10385V E52. ZiRg TR e Mz
@ 1385V 05l (i) LiAIH,, H,0
o (i) NaNO, + HCI
92.  Thecorrect [UPAC name of the following compound SRS
i (iii) H,O _
Cl OH
1
A : a
& P~ B i @/\
1) 1-bromo-4—-methyl—S-chlorohexan—B-ol
2 6-bromo-4~methyl-2—chlorohexan—4-ol p G
B3] _1-brom_q-_'5-chloro-4—methzlhexan-3-ol ‘1(2)
4 6-b}omo-2-chloro-4—methylhexan-4-ol -
In the neutral or faintly alkaline medium, KMnOy4
oxidises iodideink jodate. The c@angeigioxidaﬁon NH
state of man > this reaction is from N &) A
v +7tot mn
(2 +6to+5 1*%_,9,79 %C@
3) +Zto+4 ik ,Cl 5
@ +6tot+s P ALY ) X fqg
' A ' Y.
94. 30,(8) = 204(8) i~ || 98
for the above reaction at 208 K, K is found b . Eogp?und X on reaction with O5 followed by Zn/
3.0x10 —-59 If the concentration of 02 at equﬂibrium ol gives fOTmaldEhyde and 2—methyl propanal As
is 0.040 M then concentration of O5 inMis - products. The compound Xis:
(-1) 2.4 X 1031 ot = 3 } l'ﬁ 0)\-—2‘2{"‘ (1) 2'Meﬂ1ylbut—2-ene |
@, 12X 102 / . c q: {b 2 (2) » Pent-2-ene .;B\@jﬂ’ D Ve
§ -32 1
AE)  4.38x1 pelE 0 Y AN ) 3-Methylbut-1-ene T o
@4 19X 10", 6 ek VK &’&M (4)  2-Methylbut-1-ene H %:, =
i

o
/6 %’WW
e

LTS

@ o

ol
Ly
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53 q"/s;?y th L5 24§/’B ({;}32 "io -" 9'14}:3 A % /%
99. For @ first order rleac jon A ° Products, initial 103. which oné of the following statement js pot true
orlcenh'ation of A5 0.1 M, whicl comes 0.001 M regar ing & lclectrophoresis technique ?
fter 5 minutes: Rate cm@mt for the reaction in M T .
min’l is e _ . P ' he prescnce of chromogemc su pstrate gives
0 O 1606 g RS N } e coloured DNA bands " the gel
. 4 Lo 1 -
@ 0.2303 J “”‘ M v \W?’D O [f @ pright© ange coloured pands of DNA canbe
0 12818 w};u o 5 A AP pserved 11 the gel wh nexposed toUVlight
L(‘l) . 09212 e (& ,7; %/ ©) The p;ocess f extractl f separl ted DNA
S : tré i :
100. The order of energy absorb d which is résponsible strare” from gel B call elutior™
cor the 01 of ¢ Jexes “ The separate DNA fra nts tained bY
®) [Ni(H 0) 2(9“)2]2+ CMN* R Rl sing jdium bro ide
®) Ni(H0) (en)*" 7 iz M? i
© [Ni(en)s];+ & (_ﬁ P 104 Ex9 Kkelet0 of arthrop® composed 0
.,i(fIf > 2V ' 1% A B Chitin
€)” (A)” (B) X L 2" aﬁ,” 2 Glucosaml
G ®G P B G cun
o @7 50 2t L p .'
@ ©? (B)” (A) B . 7{/!, % ﬂ . 4 Cellulos€
gection” (BiologY otany) g 105- Match List-1 wi List-1L -
101. Ic;mlli trees the &7 ater part econdd xylem i5 List -1 List-11
(aa;r 1o i a;;lorfesetitant to insect attack dueto: (@ Manganeie (i) ACtivates the e nzyme
deposmon il l;m fabOhhes = e I catala®
en v . s "
o deposiﬁono I es;elsl. ‘ () - Magnesm[‘n ii) Required for po]len
and resins i cenn'al 1 yng:‘. osf e.tajmms ( erl]'ljnatlon
@ depositiol sub o © Boron! \ (i) Activ
ubstan exip 14 aromatic vates onzymes of
@ de ; Suter layer of stem. | espiration
positi tannins, §uT resi (d) Iron iv) et :
aromatic it o & sin an unction’ in splitting £
& of stem ip eral layers - W;ttt?r dur'£g
resence f arench}rma P o osyn esi
active X 1 cells, f’UI‘tCtionall Choos€ the €O ect X
Choose the cofr::; :Lesn;ir;tfsr and essential oils. 4 pelow': answerl from the options given
) 0 . : :
pelow: m the optlons given (1) (a)- (iv) (b)- ! :
1) (d) and (€) Only ) ,(b) (i) (c) (.—.gu), (d)_ (m)
o ®@d@on (- i) 00 O i), (@)~
3) () and (b) Onlif, (3) (a) e (Ill), (bl_-ll_v) @ _j_-_,(’ )_:.,(-IX)
@ (c) and (d) Only : ) ( ) (iv), (b) - (lu)’ ( 1), (d) = (11);0
102 Read the fol[owmg state /\_@ ’ C):L]-l)l (d) - (i)
correct statements: ments and choose the set of 2" DN polymor phism for
E;; Euchromaﬁn is 100581 /(1) t BOth genetic ms t-he basis Of .
e octomer i : onally active (2) A b ; inger
h WT. ransl
| d ;;gﬁ:i’jﬁ ‘”h““dejsilﬁg by negatively 3 Geneﬁ:t:jn
T i c 5
.. @ A typical n ichin lysine and 2 v i) DNAfi PG
0 D . cleosome rginine A fin el
NAh contai ger
Il Choose P elix ontains 400 bp of Pl‘mtmg
|1 below : orrect answer from The gaseous Plah o —
M ® the options = to: *}t owthre,
I @ ), () Only given v(f » gulator is
| ) (@) (©) (e 0 ) hel . used in
| B ©)( = ) Only p overcome api plants
,(d), (e) Only 7 k) kill dic - aPlcaI domin
i otyledono ance
V““; speed up them lus weeds in the f
altin e fieldsX
- Fonres kit Lo a
Orpti()n su air forma g
\ rfaCe ¥ ﬂOIl

/(4 ) (a).(c) ( d) Onl
e y.
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@ Given below are tW0 gtatements: @ %
o 113 :
' Stat I: rﬂ;@ . Which one of the following produces ni 2
_ atement : nodules on the roots om;gpm? uces nitrogen fixing’
X ) 1
The primar)’ CO2 }n:ceptor .111’_91 plalnts is m R"“?dﬂsmriumn NS ¢
hosphoenolpyruvatc and is Tound in the (2)  Beijernickia 4
mesophyllcells. A8 Riizobium )"
Statement I: W) Frankia
Mesophyll cells of Cy plants ack RuBisCo enzyme
s e 114. Which one of :
In thelightof the Jbovestatements: choose the correct e of the following statemerffs cant
answer from the options given low coniected to Predation? ff., = %mﬂt@ o
: t1Ilis Both the interacti =
(1) gtatement I is correct put Statemen - racting species are negativel
incorrect pacted V : y
}23/ Statement I is incorrect but Statement Iis ) it;‘iol;zlssgtalted by nature to maintain the
correct alance 1
(3 Both StatementIand Gtatement Ilare correct 4 izlﬁﬁwmm@g species diversity ina
4) Both Gtatement I and Gtatement II are o — :
incorrect b{‘ ) @—yhfwm“ of aspecies
109. Habitatloss and fragmentation over exploitatiory 115. The di"_icihwmxﬂ Ca{lﬁremov; particulate matter
alien species invasion and co-extinction are causes j};r-esen in the exhaust from ermal power plant
for: ,
Biodiversity 10ss ,(() Electrostatic Precipitator
) Natality 2) Catalytic Convertor
®) Population explosion ®) STP
110- ProductionofCucumberhas increased manifold in 116. Identify the incorrect statement related to
recent years. Application of which of the following Pollination :
hytohiormones has resulted in this iqcreased_y_lgld (1) Flowers produce foul odours to attract flies
as ﬁe h‘I’TmO_T‘le is known£o producefemalef lowers and beetles toget pollina ted L/
n —ﬁg’inf‘ A) Moths and butterflies are the most dominant
A ylene _ pollinating agents among insects
() ~Cytokinn L3 (3)  Pollinationby water is quiterarein flowering
(3) ABA plants A
) Gibberellin ¥~ (4)  Pollination by wind is more commonamongst
i o abiotic pollination
111. The appearance of recombination nodules on o
homologous chromosomes during meiosis /y Which one of the following plants does not show
characterizes : plasticity ? e {
(1) Sitesat which crossing Over occurs*” (1) Buttercup 4
2 Terminalization )d A Maize '
] Synaptogemalcom lex %) Cotton
) Bivalent (4)  Coriander
112, Which of the following @ method of ex sit
W n; erv(; e itu | 118. Whgt amount of energy is released from glucose
; _ during lactic acid fermentation?
\k{) Micropropagation (1) About10%
2 quopreservation LPZ/q
. g Less than 7%
@) Invitro fertilization 0 A
. 5 ppr oximately 15%
National Parks v y
‘@ " @q (4)  Morethan18%
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119 #Girdling E*{perlment' was performed by Plant

Physiologists to identify the plant tissue through |

which:

(1)  forboth water and food transportation
(2)  osmosisis observed

(3) wateris transported

v5)

food is transported

120. Which one of the following plants shows véxillary
o~ : o
Eie_s_t_t_g_gﬁon and diadelphous stamens ?

(1)  Alliumcepa
(@)  Solanumnigrum

(3)  Colchicum autumnale

)

Pisum sativum

121. Read the followmg statements about the(y, ggcu)
bu‘ndl@

@ In roots, xylem and phloem in a vascular
bundle are arranged in an alternate manner
along the different radii. . -

() Conjoint closed vascular bundles do not
possess cambium .~

(©0  Inopenvascular bundles, cambium s present
in between xylem and phloem _~

(d) Thevascular bundles of dicotyledonous stem
possess endarch\protoxylem i

e In monocotyledonous root, usually there are
more than six xylem bundles present , ~

Choose the correct answer from the options given
below :

(1)  (a)(b),(c)and (d)Only
A% (@) (c) (d)and () Only v

@) (a) (b)and(d)Only
@ 0O @adgonly V.

122. Which one of the following never occurs’ during
mitotic cell division?
(1)  Pairing of homologous chromosomes

\,/sz

(3) Spindle fibres attach to kmetochores of
chromosomes

Coiling and condensation of the chromatids

4 Movement of centrioles towards opposite
poles

i

123.  Given below are two statements :
Statement I :

Cleistogamous flowers are invariably autogamous
Statement II : e

Cleistogamy is dlsadvantageous as there is no
chance for cross pollination

Inthe light of the above statements, choose the correct
answer from the options given below :

(1) * Statement I is correct but Statement II is
incorrect

(2)  Statement I is incorrect but Statement II is
correct

_ v@j Both Statement I and Statement I are correct

(4)  Both Statement I and Statement II are
incorrect

124. Identify the correct set of statements :

(@) The leaflets are modified into pointed hard
thorns in Citrus and Bougainvillea-

() . Axillary buds form slenderand spirally coiled
tendrils in cucumber and pumpkin»~

(©)  Stem is flattened and fleshy in Opuntia and
modified to perform the function of leaves

(d)  Rhizophora shows vertically upward growing
roots that help to get oxygen for respiration

()  Subaerially growing stems in grasses and
strawberry help in vegetative propagation

Choose the correct answer from the options given

below :
(b), (c), (d) and (¢) Only v/

@ (@) () (d)and (e)Only

(3) . (b)and(c)Only

—

)  (a)and(d)Only

125. XOtype of sex determination can be found in :
A1) Grasshoppers

(2) Monkeys
(3)  Drosophila
(4) Birds

126. Hydrocolloid carrageen s obtained from :
Rhodophyceae only
(2)  Phaeophyceae only

(3)  Chlorophyceae and Phaeophyceae

(4)  Phaeophyceae and Rhodophyceae

127. Which of the following is not observed during

apoplastic pathway ?
(1) The movement is aided by cytoplasmic
streaming

()  Apoplastis continuous and does not provide
any barrier to water movement. L~

(3) Movement of wate;’gc,uts__khrough
intercellular spaces and wall of the cellsv
V(‘ﬂ The movement doés not involve crossing of
cell membrane



1‘23. (;wen l')elow are two statements : one is labelled as
ssertion (A) and the other is labelled as Reason

®).

Assertion (A):

Polyn;nerase chain reaction is used in DNA
amplification -

Reason (R):

The ampicillin resistant gen

eis u_secllqsl‘ a selectable

marker to check transformation

In the lightof thea
answer from theo

1)
@)

w
o

bove statements, choose the correct
ptions given below :

(A) is correct but (R) is not correct
is correct

and (R) is the

(A) is not correctbut (R)

Both (A) and (R) are correct
correct explanation of (A)
Both (A) and (R) are correct but (R)I is not the

correct explanation of (A)

129. Whichone of the following is BOLIFUS regarding the
release of, energy during esis th;'o_ugh

13

chemiosmosis ? Itinvolves:

@)
2

@

A@/

g
0. Theflowers are Zﬁzgomo

Choose the correct

Movement of protons
to the stroma

ction of NADP to NADPH
f the mer:nbrane

Redu , on the
stromasideo

Breakdown of proton gradient

Breakdown of electron gradient

srphitin:

Chilly.

answer from the options given

below :

&)
@
©
4

(d), (e) Only
(©),(d), () OnY
(a), (b), (© OV
(b), (¢) Only

across the membrane

17

133.

134.

131.

S3

Given below are two statements:

StatementI:

Mendel studied seven
pea plants and propose
Statement II:

Seven characters examine
experiment on

colour, flower colour, od shape
position and stem heig :
In the light of the above sta
answer from the options giv

0

incorrect
2 Statement I is incorrect but Statement Il is
correct
(3) Both Statement Iand Statement Il are correct
) Both Statement I and Statement II are
incorrect
What is the net géin of ATP when each molecule of
glucose is converted to two molecules of pyruvic
(1) Two _ p &
2 Eight
(3) Four
@)  Six
Given below are two statements :
Statement I:
Decomposition is a process in which the detritus is
degraded into simpler substances by microbes.
Statement I1: h
Decomposition is faster if the detritus is rich in lignin
and chitin : )
In the light of the above statements, choose the correct
answer from the options given below :
(1)  Statement I is correct but Statement II is
incorrect
(2)  Statement I is incorrect but Statement I is
correct
\(3¥ BothStatement Iand Statement 11 are correct
4) Poth Statement I and Statement II are
incorrect
The. process of translation 9{ mRN_)\ to proteins
begins as soon as : i
(1) Both the subunits join together to bind with
mRNA :
()  ThetRNAisactivated and the larger subunit
of ribosome encounters mRNA
(3) The small subunit i .I
0
A f ribosome encounters
(4)  The larger subuni
unit of ri
ribosome encounters

pairs of contrasting traits in
d the Laws of Inheritance
A

d by Mendel in his

pea plants were seed shape and
and colout, flower

tements, choose the correct
en below :

Statement I is correct but Statement 11 is

mRNA

[
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Which of the following is incorrectly matched ?

S3
<135.
(1)  Porphyra - Floridian Starch v Gl

Ldﬁ) Volvox - Starch V' 7

o 7

T
X0 &

Ec_l‘ocarg;us - Fucox_anthin
(CtlothrixX - Mannitol
b ke - f.._.;.--:--_
_ -dﬁ“’“

Section - B (Biology : Botany)

136. Given below are two statements : one is labelled as
Assertion (A) and the other is labelled as Reason

(R).
Assertion (A):

Mendel’s law of Independent assortment does not

hold good for the genes that are located closely on
the same chromosome. y

Reason (R): _

Closely located gened ass}b independently. -
In the light of the a;l_aove statements, choose the correct
answer from the options given below :

(1)  (A)iscorrect but (R)is not correct

(2) (A)isnotcorrectbut (R) is correct

(3) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(4)  Both (A)and (R) are correct but (R) is not the
correct explanation of (A)

Which part of the fruit, labelled in the given figure
makes it a false fruit? ;
a falsel

C — Thalamus
(2) D-—>Seed

() A —Mesocarp
(4) B — Endocarp

8

38. Which one of the following will accelerate
phosphorus cycle ? ’
\/6) Weathering of rocks
(?) Rainfall and storms
(3)  Burning of fossil fuels

(4)  Volcanic activity

v
g v

ﬂﬁ. The entire fleet of buses in Delhi were converted to

CNG from diesel. Inreference to this, which one of
the following statements’is false?

(1)  Itis cheaper than diesel A~
(2)  Itcannotbe adulterated like diesel"
(3)  CNG burns more efficiently than diesel >~

4)  Thesame diesel engine is used in CNG buses
making the cost of conversion low

0/ Whatis the role > of large bundle shealth cells found

around the vasctlar bundles.in C, plants/ bt
I&l)/ o enable—th ant to tolerate high

temperature
(2)  To protect the vascular tissue from high light
intensity
(3) To provide the site for photorespiratory
pathway
(4)  Toincrease the number of chloroplast for the
operation of Calvin cycle
,JAfl. Transposons can be used during which one of the
following ? :
(1)  Autoradiography
(2) Genesequencing

(3)  Polymerase Chain Reaction

~/(/I’) : Gei\i@ncin
2.  Which of the following occurs due to the presence
of autosome linked dominant trait ?
(1) Haemophilia
(2) Thalessemia
(3)  Sickle cell anaemia
4)  Myotonic dystrophy

143. Match List-Iwith List-1IL

List-1 List - 11
(a) Metacentric (i) Centromeresituated close
chromosoine to theend forming one
extremely short and one
very long arms
(b) Acrocentric -\ (i) Centromere at the terminal
chromosome end -
(c) Sub- (i) Centromere in the middle
metacentric forming two equal armsof
chromosomes ™~
(d) Telocentric'  (iv) Centromere slightly away
chromosome from the middle forming
one shorter arm and one
longer arm
Choose the correct answer from the options give”
below :

(1) (a)- (i), (b)- (i), () - (iv), (d) - (i)
@  (@)- () (0)- (), (c)- (i), (d) - (iv)
‘/(g) (@=(i), (b) - (@), (<) - (i), (d) - (i1)

@ (a)- () (b)- (i), (c)- ), (d)- (iv)



144. Read the fi i y
ollowing statements on lipids and findpjf'ﬂ-

146.

N—_— T . e

out correct set of statements :

(@  Lecithin foundi
glycolipidound in the plasma membrane is a
(b) Saturated fa aci :
id
i tty S possess one Or more
(© Ginggly oil ITaS lower melting point, hence
remains as oil in winter
(d) Lipids are generally insoluble in water but
soluble in some organic solvents
()  When fatty acid is esterified with glycerol,

monoglycerides are formed

Choose the correct answer from the options given 4

below :

(1) (o) (d)and (e) only

@ (a) (b)and(d)only

@) (a) (b)and(c)only

@  (a) (d)and (e)only

Addition of moge so@s in a given solution will :
(1) make its water potential zero oo e

(2) not affect the water potential at all

(3) raiseits water potential P é&:

he kind of life cycle it

A
List-1I ﬁ'ﬁ ';E;v

i) Dominant di loid sporophyte
vascular plant, with highly
reduced male or female

tophyte
game _,_P__){.d-—-\:»,.

Jower its water potential 7

A
Match the plant with t
exhibits :

List-1I
(a) Spirogym™ (

(i) iﬁiﬂant_!}apbid&mg
g i

1

v

149.

150.

&), e etophyte

(c) Funaria: (iii) DMQERW@
alternating with reduced
gametophyte called pfo,t}la,‘lUS

(d) Cycas (iv) @nt haplpid leaf
ametophytea temaﬁnge“‘“%m
srtially dependent
multicellular sporophyte

Choose the correct answer from the options given

below: : )

1) (a)- (i (b)- (iv) (©)~ (i) (d)- fr{)

@ (@-0) (b)- @), (©)- O (d)'(f’:‘_)

@ @-G (b)- @) (©)- @ (d)-(uf)

@ (-G (b) - (@), (©)- (iv), (d)- ()

_ the whole genome of an organism,

S3

While explaining interspecific interaction of
population, (+) sign is assigned for beneficial
interaction, (—) sign is assigned for detrimental
interaction and (0) for neutral interaction. Which of
the following interactions can be assigned (+ ) for

one species and (—) for another species involved in
gL

the interaction ?

(1) Commensalism
) Competition
M Predation ~t
€)) Amensalism

indromic base sequences of

In the following pal
be cut easily by particular

DNA, which one can

restriction enzymie ?
1) 5 CTCAGT3'; 3¥GAGTCAY
(¥3] 5GTATTC3; 3yCATAAGY

5GATACT3; 3 CTATGAY

&)
M SGAATTCY; 3 CTTAAGY
If a geneticistuses the blind approach for sequencing
followed by

assignment of function to _gi_iifgr,e_n_t—iegﬂlents, the
d byhim iscalled as:

methodology ado
(1) Expressed sequence tags —~

(2)  Bioinformatics
(3) Sequence annotation v
4) Genemapping

The anatomy of springwood shows some peculiar
features. Identify the correct set of statements about

springwood. ‘

(a) Itisalso called as the earlywood

(b) Inspring season cambium produces xylem
elements with narrow vessels

(©  Itislighterincolour '

(d)  The springwood along with autumnwood
shows alternate concentric rings forming
annual rings

()  Ithaslower density

Choose the correct
answer fr : :
below : om the options given

(1) . (a), (b)and (d) Only
@  (9)(d)and (e)Only
®) (), (b) (d)and (¢) Only
@  (a)(c)(d)and (¢) Only




@

¢

N

f )
L
(4)

20

S3
Section - A (Biology : Zoology)

i the following statements are true
151. grfﬂs‘;‘er‘:iatogenesis bu% _do not hold true for
Oogenesis ? ;
@) It results in the formation of haploid gametes *
() Differentiation of gamete occurs after the
completion of meiosis v
()  Meiosis occurs continuously in a mitotically
dividing stem cell population
(d Itis controlled by the Luteinising hormone
(LH) and Follicle Stimulating Hormone (FSH)
secreted by the anterior pituitary" '
(@) Itisinitiated at puberty v
Choose the most appropriate answer from the
options given below :

(1)  (b),(d)and (e)only
4 (b),(c)and (eLonly
(3) ()and(Qonly
4) (b)and(c)only
Given below are two statements :
Statement1:

Fatty acids and glycerols cannot beta_lls_.glb_éd into |

the blood.
Statement I1:

Specialized 1ymp1r1§1c capillaries called lacteals
carry citylomicrons’into’ lymphatic vessels and
ultimpfely into theblood. ~ gt

In t} light of the above statements, choose the most
appropriate answer from the options given below :
(1)  Statement I is correct but Statement II is
incorrect ,
Statement I is incorrect but Statement II is
correct -

Both Statement I and Statement Il are correct
Both Statement I and Statement II are
incorrect

153. Breeding crops with higher levels of vitamins and
minerals or higher proteins and healthier fats is
called :

Bio-fortification

(2) Bio-accumulation
(3)  Bio-magnification
(4) Bio-remediation

154. Inan E.coli straini gene gets mutated and its product

can not bind _t_h_g__idr_\_d_yc_el:_rgglgcule. If growth

medium is provided with lactose, what will be the
outcome?

(1)  zy,agenes will not be translated
()  RNA polymerase will bind the promoter
region
() Only zgene will get transcribed
A

z, Y- a genes will be transcribed

155. Which of the following is present between the

adjacent bones of theVertebral column ?

(1)  Areolartissue L\MJ‘
(2)  Smooth muscle
v(3) Intercalated discs” * Lo ®

X0 Cartilage

156. Given below are two statements:
StatementI:
Autoimmune disorder is a condition where body

defense mechanism recognizes its own cells as
foreign bodies. “

' Statement I1:

Rheumatoid arthritis is a condition where body does
not attack self cells.

In the light of the above statements, choose the most
appropriate answer from the options given below :

A1)  Statement I is correct but Statement II is

incorrect
(2)  Statement I is incorrect but Statement ITis
correct
(3) Both StatementIand Statement Il are correct
(4) Both Statement I and Statement II are

incorrect

At which stage of life the oogenesis process is

initiated ?
yd)  Birth
(2) Adult
(3) - Puberty

A

158. Select the incp_rr'eEDstatement with reference to

Embryonic development stage

mitosis :
. _’_---'-—
(1) Chromosomes decondense at telophase.
(2)  Splitting of centromere occurs at anaphase
(3) _ All the chromosomes lie at the equator at
metaphase.. lAVdJ‘"
\/4) Spindle fibres attach to centromere of
chromosomes.
159. In-situ conservation refers to:
sA1) - Conserve only endangered species
gp (2)  Conserve only extinct species
— - (3) DProtectand conserve the whole ecosystem
(4)  Conserve only high risk species

160. YWhich of the following functions fs n

erformed
by secretions from Mghﬂds ?-

e

-

(1) Lubrication of oral cavity v

2)  Digestion of disaccharides

(3)  Control bacterial population in mouth 4
4  Digestionof con}plex carbohydrates
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(™ . 21
16@- Given belo . 3
s w are two statements : one is labelled as | 164. Tegmina in cockroach, arises from : U [)\ﬁ

162. Given belo

Assertion (A) and the other i
er is labelled as Re
(R). asen W) Metathoraxr/”*
Assertion (A): (2)  Prothoraxand Mesothorax 9‘! *
Osteoporq_sis is charactgrised by decreased bone 2 Prothorax v
mass and increased chances of fractures. (4)  Mesothorax
Reason (R):
Cosareuie sinsteiorodls] 165. Given below are two statements : one is labelled as
e T porosis is increased levels (1;5)sertion (A) and the other is labelled as Reason
Assertion (A):

i
In the light of the above statements, choose the most
appropriate answer from the options given below :

All vertebrates are chordates but all _chordates are

notvertebrates. ./

(1) (A)iscorrect but (R) is not correct
(2) (A)isnotcorrect but (R) is correct Reason (E)-;
Notochord is replaced by vertebral column in the

Both (A) and (R) are correct and (R) is the
correct explanation of (A)
Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

o)
54
w are two statements :

Statement I:

The coagu _11:}:1 is formed ofnetw_o_rk_:gf threads called

incorrect

adultve rte_brates/
In the light of the above statements, choose the most
appropriate answer from the options given below :
1 (A)is correct but (R) is not correct
(2) (A)isnot correct but (R) is correct
)@ Both (A) and (R) are correct and (R) is the
_ correct explanation of (A)

)  Both(A) and (R) are correct but (R) is not the

thrombins-
Statement I1: - correct explanation of (A)
Spleen s the graveyeffl_ro_______ferythﬁ)_cytes../
In the light of thé above statements, choose the most 166. Nitrogenous waste is excreted in the form of pellet
appropriate answer from the options given below : or paste by :
(1) Statement I is correct but Statement II is (1)  Hippocampits
incorrect M Pavo
2 Statement I is incorrect but Statement Il is 3) Ornithorhynchus
correct @)  Salamandra
(3)/ Both Statement I and Statement 11 are correct .
4 Both gtatement I and Statement II are | 167. A dehydration reaction links two glucose molecules
4) szotrect to to produce maltose. If the formula for glucose is
C¢H;,0 then what is the fo rmula for maltose ?
. 0.«
Given below aré two statements (1)  CoHO0ng & 1)" T
Gtatement I L Lmicren (20 CypHp4014 l Za
ss than
Mycoplasma can pass through 1€s5 L () C2Hp0O10
filter size. D CppHp0pp
Statement I1: ) L bes. R . ‘
are pacteria with cell wa v 2 egarding Meiosis, which of the statements is
Mycoplasma hoose the most {Boaetect? sy, e
In the light of theabove statements, CO o low: kackfy \
L %iate answer from the options given be O“f- }({f Pairing of homologous chromosomes and
approp t At 1is correct but gtatement II is recombination occurs in Meiosis-I -
me ' s
- f::o:rect (2)  Four haploid cells are formed at the end of
Gtatement 1is incorrect put Statement Il is Meiosis-II NP
e
@ co:rect (3)  There are two stages in Meiosis, @Ds' I
)  Both gGtatement and Statement 11 are correct andIl 15-
o}
nd Statement I are 44 DNA replication -
E{ Both statement 100 Meiosis-Hp occurs in S phase of
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169. Under normal physiological conditions in human

170.

171.

172. Identify the mic

being every 100 ml of oxygenated blood can deliver
ml of O, to the tissues.

(1) 4ml

(2 10ml

@) 2ml
A 5ml

Given below are two statements :

Statement I:

The release of sperms into the seminiferous tubules

is called spermiation, X AR

Statement II:

Spermiogenesis is the process of formation of sperms
—_— L s —_——

from spermatogonia.

In the light of the above statements, choose the most

appropriate answer from the options given below :

(1)  Statement I is correct but Statement II is

W

@)
@)

incorrect
Stateﬁeitlfisjlgprregt but Statement II is

correct _
Both Statement I and Statement Il are gorrect

Both Statement I and Statement II are
incorrect

In the taxohomic categories which hierarchial
arrangement in ascending order is correct in case of
animals ?

(1) Kingdom, Order, Class, Phylum, Family,
Genus, Species

Kingdom, Order, Phylum, Class, Family,
Genus, Species

Kingdom, Phylum, Class, Order, Family,
Genus, Species’ : -

Kingdom, Class, Phylum, Family, Order,
Genus, Species

roorganism which is responsible for

the production of an immunosuppressive molecule
L . e et

cyclosp(gi_g,A: _ i
(1)  Aspergillus niger>' 0

(2)  Streptococcus ce@isfac

{3  Trichoderma polysporumt *

(4)  Clostridium buhﬂicmrw N

&

(4)

ol -~

N
%

173. Lippe’s loop is a type of contraceptive used as:

,/(l/). . Non-Medicated IUD
2
®)
)

Copper releasing IUD .
Cervical barrier
Vault barrier

22
174.

()
(2)
t2)
(4)

175.

(1)
@
3)

H

@)

v

3)

@

177.

M
K

w2f
@

178. - Whi

XV
)

&)

; }4)

@)
V)
(3)
(4)

Endoplasmic Reti
In prokaryotes only RER are present

179. In gene therapy of A
deficiency, the patientr
genetically engineere

——
Lympho

i

If .the length of a DNA molecule is 1.1 metres, what
will be the approximate numbem:l;!s ?

3.3 x10° bp e
6.6 10 bp

¥
33x109bp 2 T=bs
6.6 x10° bp R 273.%

Detritivores breakdown detritus into smaller
}:Ej_ticles. This process is called :

Humification
Decomposition
Catabolism
Fragmentation

176. Which of the following is not a connective tissue ?
i

Cartilage ~”
Neuroglia

Blood ~
Adipose tissue -~

Which of the following is a correct match for disease
DAL

and its symptoms ? Rt
Myasthenia‘g:_ayii - @?ﬂ)rder
resulting in weakenin nd paralysis of
skeletal muscle
MusculWhy —@mmune
disorder causing progressive egeneration of
skeletal muscle

Arthritis - Inflammed joints

TE_taFﬁ)’r - high Ca?* level causing rapid
spasms. “\" o

ch of the fallowing statements with respect to

~ .. &
uim is incorrect ?

SER are the sites for lipid synthesis—"
RER has ribosomes attached to ER <
i

SER is devoid of ribosomes

—

denosine Deaminase (ADA)

uir iodici ion of

d lymphocytes because :
e

cytes from patient’s blood are grown

in culture, outside the body.

Genetically engineered lymphocytes are not

immortal cells. ws” : &

Retroviral vector is introduced into these

lymphocytes. :

Gene isolated from marrow cells producing

ADA is inuoduEed into cells at e:hbryonic

S



S3

180. Natural selection wh indivi =
ere more individuals acquire | 185. Which of the following_k@@‘l-?—qi—OB ot

181.

182.

183.

184.

~ away from the cenfre of the palindromi

- @) Bufo Balaenoptera, Bangaris

specific character value other than_the mean
character value, Teads to: el

(1) . Disruptive change

(20 Random change

(3)  Stabilising change
(@)  Directional change

Given below are two statements :

Statement1:

Restriction endonucleases recognise specific
sequence to cut DNA known as ‘palindromic

nucleotide sequence.
e —

Statement I1:

Restriction endonucleases cut the.DNA sﬁrand é little'
ite.

tatements, choose the most

In the light of the above s
given below:

appropriate answer from the options

1) Statement I is correct but Statement II is

incorrect

2 Statement I is inco
correct

s3) Both Statement I an

(4 Both Statement I and Statement II are
incorrect

rrect but Statement Il is

d Statement Il are correct

‘8’ Drosophila in @ laboratory population of ‘80’
week, the deathratein the population

died during a

is ' individuals per Drosophila per week.
(1) 1.0 ,

2 Zero 9 ¢

@f o1
@ 10

In which of the following animals, digestive tract
has additional chambers like crop and gizzard ?

i ) [l Catla, Columba, Crocodilus

,@f‘ }&Pﬁvo, Psittacula, Corvus Yl

(3) Corvus, Columba, Chamelean®

Identify the asexual reproductive structure

associated with P¢
1) Gemmules ¢4~

(2) Buds Dvs
(3)  Zoospores
w Conidia

l/(Z)/ Provides surface for diffusio

186.

conducting part of respiratory system ?
air is broughtto body

(1)  Temperature of inhaled

temperature
nof Opand CO,

(3)  Itclearsinhaled air from foreign particles
isadind
(4)  Inhaled air is humidified”

Section - B (Biology : Zoology)

Which of the following statements is not true ?

gy indicates common ancestry o

(1 Homolo
are a pair

2  Flippers of penguins and dolphins
of homologous organs X _

gous structures are a result of

(3) Analo
convergent evolution

4 S:veet pota_to and potato is an example of

analogy

Which of the following are not the effects of

Parathyroid hormone 7
(@) Stimulates the process of b
2+ Jevel in blood

(b)  Decreases Ca
a2+ by renal tubules

(© Reabsorption of C

(d Decreases the absorption of Ca?* from
digested food

(e)  Increases metabolism of carbohydrates

Choose the most appropriate answer from the

options given below :

(1) gg')_and (e) only

“ (2 (b)and(c)only
v@) > (@and(c) only

@ (o) (@and (@)only

188. Sel i égatdi
ect the incorrect statement re afdu} synapses:
—"_' - o
vaﬁ’ Chemical synapses use neuro transmitters

(2 Impulse transmission across a chemical
synapse is always faster than thafacrass an
electrical synapse. _~ )

(3 The membrane ynap

s of presynapti
postsynaptic neurons are in close ﬁcxhle\ll}tc;

in an electrical synapse. \~

./ﬁ) Electrical %ﬁl@ dire_c_t]:y fro
ot m Oone

neuron into e] . LU,
to th .0 er across the electri 1
ca

synapse.

e —
ey |

‘!-‘-

2

one resorption v~

0
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e 24
. Match List - Iwith List - IT with re
& . el spect t il 3 s
Ofczln'::‘jicpmm A the'r';‘-'Spcctfgcact?(:::; e 332/ Match List - I with List - II.
o) i List- 11 List-1 s
) iaphragms (i) Inhibit ovulation and i : T
Implantation ‘ (Biological Molecules)  (Biologi i
(b) Contraceptive (ii) Incr : oggiEal funk o)
Pills B q;gll(;aseﬁrlhagocytosis of (a)  Glycogem, (i) Hotirione
L € 'm within Ut '
(©) Inh‘(? Uteri iii) Absence of M o (b)  Globuli Bi
Devicesr of Menstrual cycle ocatalyst
= ;l‘ldhotfulation following (9 Steroi )  Antibody °
arturition ) J
(d) Lactati - d) Th i 2
) (Eactiiondl 1) Thaycooe Chacart f, R N et
een
a permsg tryo belgfj? the correct answer from the options given
;f;gas_e the correct answer from the options given’ M
i a) - (ii), (b) - (iv), (c) - (iii), (d) - (i)
(1) (a)-(ii), (b)- (iv), (c) - (i) ; ’
! ’ = ,(d)—] ‘-}2{ a_’ b_u. _(; ..
B G i (d)-{i’:;} . : (@) _(;),( ) (f”)’ (©)- (), (d)- (i)
@) (@)~ (i), (b)- (i), (©)- (iid), (d)- (i) G (@@ b)- @ - @) -0
A (@- (@), (b)- ) (©)- (i), () (i) @, @50 0)- @ -0 (d) - (iii)
é@ Select the incorrect stat 5 \,1{ i | :
acqitred tenmunity. ement with respect to 3. Wh1§11 of the foHowingisnntadesirab@ ofa
cloning vector ?
(1)  Anamnesticresponseis due to memory of first -
encounter. (1) = Presence of single restriction enzyme site
\/é) dAchuired immuni:ly is non-specific type of v&{ Presence of two or more recognition sites
efense present at the time of birth.»4.. L ;
(3) Primary I‘ESPODSEiSpH_'_-rOduced e ourw (3)  Presence of origin of replication
\ encountersa patho gf.-ri for the first time. (4)  Presence of a marker gene
0»)/ 4) Ar;)amnestic response is elicited on
subsequént enc s wi
bt o ounters with the same | 194 Ten E.coli cells with °N - dsDNA are ipcubated
- medium contamgg,_l-{ nucleotide| CAfter 6
@ Statements related to human Insulin are given below. minutes, h:;ﬁmal  E.coli celly will have DNA totally
Which statement(s) is/ are correct about genetically free f_’-_‘fi'f‘ll—-/- 2 ' !
engineered Insulin ? pE———" R i T Ve
— ; | = (1) 60 cells : ‘ _
(@@ Pro-hormon insulin contain extra stretch of L '
C-peptide e 2) 80 cells u :
(b) A-peptide and B-peptide chains of insulin
we(;e proguc%d separately in E.coli, extracted @ 20celbs
and combined by creating disulphide bond
between them. +~ e~ © ) ) 40 cells
() Insulin used for treating Diabetes was ,
~ extracted froin Cattles and Pigs. v~ - 195. Which one of the following statements is correct ?
(d) Pro-hormone Insulin needs to be processed d freely fromatri
forc ting int - (1  Bloo moves ! Yy atrium to the ventricle
horm::):nve(.?r ng into a mature and functional duringjomt diastole.
() Some patients develop allergic reactions to 2 Increased ventricular pressure cau i
the foreign insulin. ) of the semilunar valves., Ses cloalis
Choose the most appropriate answer f i i
options given below : : rom the ®3) The atrfo-ventrlcule}r node (AVN) generates
1) d an action potential to stimu] 1
(c)and (d) only contraction ate atria
(@  (c),(d)and (e) only At
? e tricuspid an : :
“(ﬁ (a), (b)and (d) only ) gﬂe to tIlJ'te presﬂ:; l}f’;cuspld valves opel
: exert
simultaneous contraction of the ‘;g iab)’ the

4)  (b)only




196.

197.

25

The recombination fre

' : quency between the gen
&c1s$%, b&cis15%,b & d is9%,a&bfi;523i/f
c & dis24% and a & d is 29%. What will be the:
sequence of these genes on a linear chromosome ?

(1) abcd
(2) a,c,b,d
B) ad,b,c

(4) df bl’ a-; C

Which of the following is a correct statement ?

(1)  Slime moulds are saprophytic organisms
classified under Kingdom Monera.

(2) Mycoplasma have DNA, Ribosome and cell
wall s '

(3) Cyanobacteria are a group of autotrophic
organisms classified under Kingdom

Monera.

Bacteria are exclusively heterotrophic

organisms.

@

Given below are two statements :

Statement I:

In a scrubber the exhaust from the thermal plant is
passed through the electric wires to charge the dust

particles.

Statement I
Particulate matter (PM 2:5) can not be removed b_y
scrubber but can be removed by an electrostatic

precipitator.
i ;
In the light of the above ctatements, choose the most
appropriate answer from the options given below :
(1) Statement I is correct but Statement II is
incorrect
) Statement I is incorrect but Statement II is
correct P SR
3) Both Statement Iand Statement Il are correct
M’S Both Statement I and Statement II are
incorrect

7&"\{(_@
A

S3

3,99-/ If a colour blind female marries a man whose mother

was also colour blind, what are the chances of her
progeny having colour blindness ?

(1) 75% o e v

A 100%

@ 25% K &\ L
@  50% %" X
Match List - I with List - II.
List-1 List-1I
(a) Bronchioles, Dense Regular
| Connective Tissue

Il
(i) Loose Connective
Tissue

B
}b.ij) Glandular Tissue

(b) Gobletcell

(c) Tendons
(d) Adipose Tissue (iv) Ciliated Epithelium

Choose the correct answer from the options given

below :

Q) @- ), (b)- (@) (- ), (d)- (i)
@ @- (i), (b)- (), (- (i), (A=)
o (@)= B)- @), - 0, (@) -6
@  (@- () b)- (i) (- (i), (@) - ()

-00o0-






